Revision Answers

Chapter 5 Revenue Recognition

Answer 1 – Norman

Sale of theme park, casino and hotel

· Property is sometimes sold with a degree of continuing involvement by the seller so that the risks and rewards of ownership have not been transferred. The nature and extent of the buyer’s involvement will determine how the transaction is accounted for.
· The substance of the transaction is determined by looking at the transaction as a whole and IAS18 ‘Revenue’ requires this by stating that where two or more transactions are linked, they should be treated as a single transaction in order to understand the commercial effect (IAS18 paragraph 13).
· In the case of the sale of the hotel, theme park and casino, Norman should not recognise a sale as the company continues to enjoy substantially all of the risks and rewards of the businesses, and still operates and manages them.
· Additionally the residual interest in the business reverts back to Norman.
· Also Norman has guaranteed the income level for the purchaser as the minimum payment to Conquest will be $15 million a year. The transaction is in substance a financing arrangement and the proceeds should be treated as a loan and the payment of profits as interest.
Discount voucher

· The principles of IAS 18 and IFRIC – Int 13 ‘Customer Loyalty Programmes’ require that revenue in respect of each separate component of a transaction is measured at its fair value.
· Where vouchers are issued as part of a sales transaction and are redeemable against future purchases, revenue should be reported at the amount of the consideration received/receivable less the voucher’s fair value.
· In substance, the customer is purchasing both goods or services and a voucher. The fair value of the voucher is determined by reference to the value to the holder and not the cost to the issuer.
· Factors to be taken into account when estimating the fair value, would be the discount the customer obtains, the percentage of vouchers that would be redeemed, and the time value of money.
· As only one in five vouchers are redeemed, then effectively the hotel has sold goods worth ($300 + $4) million, i.e. $304 million for a consideration of $300 million.
· Thus allocating the discount between the two elements would mean that (300 ÷ 304 × $300m) i.e. $296·1 million will be allocated to the room sales and the balance of $3·9 million to the vouchers. The deferred portion of the proceeds is only recognised when the obligations are fulfilled.
Government grant

· The recognition of government grants is covered by IAS 20 ‘Accounting for government grants and disclosure of government assistance’. The accruals concept is used by the standard to match the grant received with the related costs.
· The relationship between the grant and the related expenditure is the key to establishing the accounting treatment. Grants should not be recognised until there is reasonable assurance that the company can comply with the conditions relating to their receipt and the grant will be received.
· Provision should be made if it appears that the grant may have to be repaid.
· There may be difficulties of matching costs and revenues when the terms of the grant do not specify precisely the expense towards which the grant contributes. In this case the grant appears to relate to both the building of hotels and the creation of employment.
· However, if the grant was related to revenue expenditure, then the terms would have been related to payroll or a fixed amount per job created.
· Hence it would appear that the grant is capital based and should be matched against the depreciation of the hotels by using a deferred income approach or deducting the grant from the carrying value of the asset (IAS 20).
· Additionally the grant is only to be repaid if the cost of the hotel is less than $500 million which itself would seem to indicate that the grant is capital based.
· If the company feels that the cost will not reach $500 million, a provision should be made for the estimated liability if the grant has been recognised.

Answer 2 – Johan

(a)
Licences

Recognition criteria:

· An intangible asset meets the identifiability criterion when it is separable or it arises from contractual or other legal rights (IAS 38 ‘Intangible Assets’).
· Additionally intangible assets are recognised where it is probable that the future economic benefits attributable to the asset will flow to the entity and the asset’s cost can be reliably measured.
· Where intangible assets are acquired separately, the asset’s cost or fair value reflects the estimations of the future economic benefits that are expected to flow to the entity.
· The licence will, therefore, meet the above criteria for recognition as an intangible asset at cost.
Measurement:

· Subsequent to initial recognition, IAS38 permits an entity to adopt the cost or revaluation model as its accounting policy.
· The revaluation model can only be adopted if intangible assets are traded in an active market. As the licence cannot be sold, the revaluation model cannot be used.
· The cost model requires intangible assets to be carried at cost less amortisation and impairment losses.

Amortisation and renewal:

· Amortisation is the systematic allocation of the depreciable amount of an intangible asset over its useful life. The depreciable amount is the asset’s cost less its residual value.
· The licence will have no residual value. The depreciable amount should be allocated on a systematic basis over its useful life.
· The method of amortisation should reflect the pattern in which the asset’s economic benefits are expected to be consumed.
· If that pattern cannot be determined reliably, the straight line method of amortisation must be used.
· The licence does not suffer wear and tear from usage, that is the number of customers using the service.
· The economic benefits of the licence relate to Johan’s ability to benefit from the use of the licence.
· The economic benefits relates to the passage of time and the useful life of the licence is now shorter. Therefore, the asset depletes on a time basis and the straight line basis is appropriate.
· The licence should be amortised from the date that the network is available for use; that is from 1 December 2007.
· An impairment review should have been undertaken at 30 November 2007 when the licence was not being amortised. Although the licence is capable of being used on the date it was purchased, it cannot be used until the associated network assets and infrastructure are available for use.
· Johan expects the regulator to renew the licence at the end of the initial term and thus consideration should be given to amortising the licence over the two licence periods, i.e. a period of 11 years (five years and six years) as the licence could be renewed at a nominal cost.
· However, Johan has no real experience of renewing licences and cannot reliably determine what amounts, if any, would be payable to the regulator. Therefore, the licence should be amortised over a five year period, that is $24 million per annum.
Impairment:

· There are indications that the value of the licence may be impaired. The market share for the year to 30 November 2008 is disappointing and competition is fierce in the sector, and retention of customers difficult.
· Therefore, an impairment test should be undertaken. Johan should classify the licence and network assets as a single cash generating unit (CGU) for impairment purposes. The licence cannot generate revenue in its own right and the smallest group of assets that generates independent revenue will be the licence and network assets. The impairment indicators point to the need to test this cash generating unit for impairment.
(b)
Costs incurred in extending network

Recognition of feasibility study:

· The cost of an item of property, plant and equipment should be recognised when

(i)
it is probable that future economic benefits associated with the item will flow to the entity, and

(ii)
the cost of the item can be measured reliably.

· It is necessary to assess the degree of certainty attaching to the flow of economic benefits and the basis of the evidence available at the time of initial recognition. The cost incurred during the initial feasibility study ($250,000) should be expensed as incurred, as the flow of economic benefits to Johan as a result of the study would have been uncertain.
Cost, location and condition, and capitalization:

· IAS 16 states that the cost of an item of PPE comprises amongst other costs, directly attributable costs of bringing the asset to the location and condition necessary for it to be capable of operating in a manner intended by management. Examples of costs given in IAS16 are site preparation costs, and installation and assembly costs.
· The selection of the base station site is critical for the optimal operation of the network and is part of the process of bringing the network assets to a working condition. Thus the costs incurred by engaging a consultant ($50,000) to find an optimal site can be capitalised as it is part of the cost of constructing the network and depreciated accordingly as planning permission has been obtained.
Leases:

· Under IAS 17, ‘Leases’, a lease is defined as an agreement whereby the lessor conveys to the lessee, in return for a payment or series of payments, the right to use an asset for an agreed period of time.
· A finance lease is a lease that transfers substantially all the risks and rewards incidental to ownership of the leased asset to the lessee.
· An operating lease is a lease other than a finance lease.
· In the case of the contract regarding the land, there is no ownership transfer and the term is not for the major part of the asset’s life as it is land which has an indefinite economic life. Thus substantially all of the risks and rewards incidental to ownership have not been transferred. The contract should be treated, therefore, as an operating lease.
· The payment of $300,000 should be treated as a prepayment in the statement of financial position and charged to the income statement over the life of the contract on the straight line basis.
· The monthly payments will be expensed and no value placed on the lease contract in the statement of financial position.
(c)
Handsets and revenue recognition

Inventory:

· The inventory of handsets should be measured at the lower of cost and net realisable value.
· Johan should recognise a provision at the point of purchase for the handsets to be sold at a loss. The inventory should be written down to its net realisable value (NRV) of $149 per handset as they are sold both to prepaid customers and dealers. The NRV is $51 less than cost. Net realisable value is the estimated selling price in the normal course of business less the estimated selling costs.
Revenue recognition:

· IAS18, ‘Revenue’, requires the recognition of revenue by reference to the stage of completion of the transaction at the reporting date.
· Revenue associated with the provision of services should be recognised as service as rendered.
· Johan should record the receipt of $21 per call card as deferred revenue at the point of sale.
· Revenue of $18 should be recognised over the six month period from the date of sale.
· The unused call credit of $3 would be recognised when the card expires as that is the point at which the obligation of Johan ceases.
· Revenue is earned from the provision of services and not from the physical sale of the card.
Agency:

· IAS18 does not deal in detail with agency arrangements but says the gross inflows of economic benefits include amounts collected on behalf of the principal and which do not result in increases in equity for the entity. The amounts collected on behalf of the principal are not revenue.
· Revenue is the amount of the ‘commission’.
· Additionally where there are two or more transactions, they should be taken together if the commercial effect cannot be understood without reference to the series of transactions as a whole.
Separability:

· As a result of the above, Johan should not recognise revenue when the handset is sold to the dealer, as the dealer is acting as an agent for the sale of the handset and the service contract. Johan has retained the risk of the loss in value of the handset as they can be returned by the dealer and the price set for the handset is under the control of Johan.
· The handset sale and the provision of the service would have to be assessed as to their separability. However, the handset cannot be sold separately and is commercially linked to the provision of the service. Johan would, therefore, recognise the net payment of $130 as a customer acquisition cost which may qualify as an intangible asset under IAS 38, and the revenue from the service contract will be recognized as the service is rendered. The intangible asset would be amortised over the 12 month contract. The cost of the handset from the manufacturer will be charged as cost of goods sold ($200).
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Answer 3 – Burley
(i)

Recognition criteria for sale of goods:

Revenue arising from the sale of goods should be recognised when all of the following criteria have been satisfied:

(a)
The seller has transferred to the buyer the significant risks and rewards of ownership;

(b)
The seller retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold;

(c)
The amount of revenue can be measured reliably;

(d)
It is probable that the economic benefits associated with the transaction will flow to the seller; and

(e)
The costs incurred or to be incurred in respect of the transaction can be measured reliably.
Revenue recognition related to the case:

· Burley should recognise a purchase from Slite for the amount of the excess amount extracted (10,000 barrels x $100).
· The substance of the transaction is that Slite has sold the oil to Burley at the point of production at market value at that time. Burley should recognise all of the oil it has sold to the third parties as revenue including that purchased from Slite as the criteria in IAS 18 are met.
· The amount payable to Slite will change with movements in the oil price. The balance at the year-end is a financial liability, which should reflect the best estimate of the amount of cash payable, which at the year-end would be $1,050,000. The best estimate will be based on the price of oil on 30 November 2009.
· At the year-end there will be an expense of $50,000 as the liability will have increased from $1 million.
· The amount payable will be revised after the year-end to reflect changes in the price of oil and would have amounted to $950,000. Thus giving a gain of $100,000 to profit or loss in the following accounting period.
Events after reporting period:

· Events after the reporting period are events, which could be favourable or unfavourable, and occur between the end of the reporting period and the date that the financial statements are authorised for issue.
· An adjusting event is an event after the reporting period that provides further evidence of conditions that existed at the end of the reporting period, including an event that indicates that the going concern assumption in relation to the whole part or part of the enterprise is not appropriate.

· A non-adjusting event is an event after the reporting period that is indicative of a condition that arose after the end of the reporting period.
Inventory valuation:

· Inventories are required to be stated at the lower of cost and net realisable value (NRV).
· NRV is the estimated selling price in the ordinary course of business, less the estimated cost of completion and the estimated costs necessary to make the sale.
· Any write-down to NRV should be recognised as an expense in the period in which the write-down occurs.
· Estimates of NRV are based on the most reliable evidence available at the time the estimates are made.
· These estimates consider fluctuations in price directly relating to events occurring after the end of the financial period to the extent that they confirm conditions at the end of the accounting period.
Relevant to the case of inventory valuation and non-adjusting event

· Burley should calculate NRV by reference to the market price of oil at the end of reporting period. The price of oil changes frequently in response to many factors and therefore changes in the market price since the balance sheet date reflect events since that date. These represent non-adjusting events.
· Therefore the decline in the price of oil since the date of the financial statements will not be adjusted in those statements. The inventory will be valued at cost of $98 per barrel as this is lower than NRV of $(105 – 2) i.e. $103 at the year-end.
Workings 1
	
	Dr. ($)
	Cr. ($)

	Purchases/Inventory (10,000 × 100)
	1m
	

	Slite – financial liability
	
	1m

	At year end
	
	

	Expense
	50,000
	

	Slite – financial liability [10,000 × $(105 – 100)]
	
	50,000

	After year end
	
	

	Slite – financial liability [(10,000 × $(105 – 95)]
	100,000
	

	Profit or loss
	
	100,000

	Cash paid to Slite is $950,000 on 12 December 2009
	
	


(ii)

· An asset is a resource controlled by the enterprise as a result of past events and from which future economic benefits are expected to flow to the enterprise. An asset is recognised in the statement of financial position when it is probable that the future economic benefits will flow to the enterprise and the asset has a cost or value that can be measured reliably.
· IAS 38 ‘Intangible Assets’ also requires an enterprise to recognise an intangible asset, whether purchased or self-created (at cost) if, and only if:
(a)
it is probable that the future economic benefits that are attributable to the asset will flow to the enterprise; and

(b)
the cost of the asset can be measured reliably.
· This requirement applies whether an intangible asset is acquired externally or generated internally.
· The probability of future economic benefits must be based on reasonable and supportable assumptions about conditions that will exist over the life of the asset.

· The probability recognition criterion is always considered to be satisfied for intangible assets that are acquired separately or in a business combination.
· IAS 36 ‘Impairment of Assets’ also says that at each reporting period, an entity should review all assets to look for any indication that an asset may be impaired (its carrying amount may be in excess of the greater of its net selling price and its value in use).
· IAS 36 has a list of external and internal indicators of impairment. If there is an indication that an asset may be impaired, then the asset’s recoverable amount should be calculated.
· Thus the licence can be capitalised and if the exploration of the area does not lead to the discovery of oil, and activities are discontinued in the area, then an impairment test will be performed.
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Answer 4 – Tyre
Advice on sundry accounting issues: year ended 31 May 2006
The following details the nature of the advice relevant to the accounting issues.

Revenue recognition
(i)

Sale to customers

· IAS 18 ‘Revenue’ requires that revenue relating to the sale of goods is recognised when the significant risks and rewards are transferred to the buyer. Also the company should not retain any continuing managerial involvement associated with ownership or control of the goods. Additionally the revenue and costs must be capable of reliable measurement and it should be probable that the economic benefits of the transaction will go to the company.
· Although the deposit is non refundable on cancellation of the order by the customer, there is a valid expectation that the deposit will be repaid where the company does not fulfil its contractual obligation in supplying the vehicle.
· The deposit should, therefore, only be recognised in revenue when the vehicle has been delivered and accepted by the customer.
· It should be treated as a liability up to this point. At this point also, the balance of the sale proceeds will be recognised. If the customer does cancel the order, then the deposit would be recognised in revenue at the date of the cancellation of the order.
· The appendix to IAS 18, although not part of the standard, agrees that revenue is recognised when goods of this nature are delivered to the buyer.
Sale of fleet cars

· The company has not transferred the significant risks and rewards of ownership as required by IAS 18 as the buyback option is expected to occur.
· The reason for this conclusion is that the company has retained the risk associated with the residual value of the vehicles. Therefore, the transaction should not be treated as a sale.
· The vehicles should be treated as an operating lease as essentially only 60% of the purchase price will be received by Tyre.
· Ownership of the assets are not expected to be transferred to Hub,
· the lease term is arguably not for the major part of the assets’ life, and
· the present value of the minimum lease payments will not be substantially equivalent to the fair value of the asset. Therefore it is an operating lease (IAS 17).
· No ‘outright sale profit’ will be recognised as the risks and rewards of ownership have been retained and no sale has occurred.
· The vehicles will be shown in property, plant and equipment at their carrying amount.
· The lease income should be recognized on a straight line basis over the lease term of three years unless some other basis is more representative.
· The vehicles will be depreciated in accordance with IAS 16, ‘Property, Plant and Equipment’.
· If there is any indication of impairment then the company will apply IAS 36 ‘Impairment of Assets’. As the discount given is normal for this type of transaction, it will not be taken into account in estimating the fair value of the assets.
· The buyback option will probably meet the definition of a financial liability and will be accounted for under IFRS 9 ‘Financial Instruments’.
· The liability should be measured at ‘fair value’ and subsequently at amortised cost unless designated at the outset as being at fair value through profit or loss.
(ii)

Former administrative building

· The land and buildings of the former administrative centre are accounted for as separate elements. The demolition of the building is an indicator of the impairment of the property under IAS 36.
· The building will not generate any future cash flows and its recoverable amount is zero. Therefore, the carrying value of the building will be written down to zero and the loss charged to profit or loss in the year to 31 May 2006 when the decision to demolish the building was made.
· The land value will be in excess of its carrying amount as the company uses the cost model and land prices are rising. Thus no impairment charge is recognised in respect of the land.
· The demolition costs will be expensed when incurred and a provision for environmental costs recognised when an obligation arises, i.e. in the financial year to 31 May 2007. It may be that some of these costs could be recognised as site preparation costs and be capitalised under IAS 16.
· The land will not meet the criteria set out in IFRS 5 ‘Non-current Assets Held for Sale and Discontinued Operations’ as a noncurrent asset which is held for sale. IFRS 5 says that a non-current asset should be classified as ‘held for sale’ if its carrying amount will be recovered principally through a sale transaction rather than through continuing use. However, the non-current asset must be available for immediate sale and must be actively marketed at its current fair value (amongst other criteria) and these criteria have not been met in this case.
· When the building has been demolished and the site prepared, the land could be considered to be an investment property and accounted for under IAS 40 ‘Investment Property’ where the fair value model allows gains (or losses) to be recognised in profit or loss for the period.
(iii)

Retail outlets

· The two new long lease agreements have been separately classified as an operating lease and a finance lease.
· The lease premium paid for a finance lease should be capitalised and recognised as an asset under the lease.
· IAS 17 ‘Leases’ says that costs identified as directly attributable to a finance lease are added to the amount recognised as an asset.
· It will be included in the present value calculation of the minimum lease payments. The finance lease will be recognised at its fair value or if lower the present value of the minimum lease payments.
· The premium will be depreciated as part of the asset’s value over the shorter of the lease term and the asset’s useful life.
· Initially, a finance lease liability will be set up which is equal to the value of the leased asset.
· The operating lease premium will be spread over the lease term on a straight line basis unless some other method is more representative. The premium will be effectively treated as a prepayment of rent and is amortised over the life of the agreement.
(iv)

Car accessories

· An obligation should not be recognised for the coupons and no provision created under IAS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’.
· A provision should only be recognised where there is an obligating event. There has to be a present obligation (legal or constructive), the probability of an outflow of resources and the ability to make a reliable estimate of the amount of the obligation.
· These conditions do not seem to have been met.
· Until the vehicle is purchased the accessories can be obtained. That is the point at which the present obligation arises, the outflow of resources occurs and an estimate of the amount of the obligation can be made.
· When the car is purchased, the accessories become part of the cost of the sale. The revenue recognised will be the amount received from the customer (the sales price). The revenue will not be grossed up to include the value of the accessories.
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Answer 5 - Router
(a)

Under IAS 18 ‘Revenue’, revenue on a service contract is recognised when the outcome of the transaction can be measured reliably. For revenue arising from the rendering of services, provided that all of the following criteria are met, revenue should be recognised by reference to the stage of completion of the transaction at the balance sheet date (the percentage-of completion method) (IAS 18 para 20):

(a)
the amount of revenue can be measured reliably;

(b)
it is probable that the economic benefits will flow to the seller;

(c)
the stage of completion at the end of reporting period can be measured reliably; and

(d)
the costs incurred, or to be incurred, in respect of the transaction can be measured reliably.
· When the above criteria are not met, revenue arising from the rendering of services should be recognised only to the extent of the expenses recognised that are recoverable.
· Because the only revenue which can be measured reliably is the fee for making the film ($5 million), this should therefore be recognised as revenue in the year to 31 May 2007 and matched against the cost of the film of $4 million.
· Only when the television company shows the film should any further amounts of $100,000 be recognised as there is an outstanding ‘performance’ condition in the form of the editing that needs to take place before the television company will broadcast the film.
· The costs of the film should not be carried forward and matched against anticipated future income unless they can be deemed to be an intangible asset under IAS 38 ‘Intangible Assets’. Additionally, when assessing revenue to be recognised in future years, the costs of the editing and Router’s liability for these costs should be assessed.
(b)

· IAS 16 ‘Property, Plant and Equipment’ permits assets to be revalued on a class by class basis. The different characteristics of the buildings allow them to be classified separately. Different measurement models can, therefore, be used for the office buildings and the film studios.
· However, IAS 8 ‘Accounting policies, changes in accounting estimates and errors’ says that once an entity has decided on its accounting policies, it should apply them consistently from period to period and across all relevant transactions. An entity can change its accounting policies but only in specific circumstances. These circumstances are:
(a)
where there is a new accounting standard or interpretation or changes to an accounting standard

(b)
where the change results in the financial statements providing reliable and more relevant information about the effects of transactions, other events or conditions on the entity’s financial position, financial performance, or cash flows
· Voluntary changes in accounting policies are quite uncommon but may occur when an accounting policy is no longer appropriate. Router will have to ensure that the change in accounting policy meets the criteria in IAS 8.
· Additionally, depreciated historical cost will have to be calculated for the film studios at the commencement of the period and the opening balance on the revaluation reserve and any other affected component of equity adjusted. The comparative amounts for each prior period should be presented as if the new accounting policy had always been applied. There are limits on retrospective application on the grounds of impracticability.
· It is surprising that the lease of the land is considered to be a finance lease under IAS 17 ‘Leases’. Land is considered to have an indefinite life and should, therefore normally be classified as an operating lease unless ownership passes to the lessee during the lease term.
· The lease of the land should be separated out from the lease and treated individually. The value of the land so determined would be taken off the balance sheet in terms of the liability and asset and the lease payments treated as rentals in the income statement. A prior period adjustment should also be made.
· The buildings would continue to be treated as property, plant and equipment (PPE) and the carrying amount not adjusted. However, the remaining useful life of the building should be revised to reflect the shorter lease term. This will result in the carrying amount being depreciated over the shorter period. This change to the depreciation policy is applied prospectively not retrospectively.
· The lease liability must be assessed for derecognition under IFRS 9 ‘Financial Instruments’, because of the revision of the lease terms, in order to determine whether the new terms are substantially different from the old. The purpose of this is to determine whether the change in terms is a modification or an extinguishment.
· The change seems to constitute a ‘modification’ because there is little change to the terms. The lease liability is, therefore, amended by deducting the one off payment ($10 million) from the carrying amount (after adjustment for the lease of land) together with any transaction costs.
· The lease liability is then remeasured to the present value of the revised future cash flows, discounted using the original effective interest rate. Any adjustment made in remeasuring the lease liability will be taken to the income statement.
(c)

· The investment in Wireless is currently accounted for using the equity method of accounting under IAS 28 (revised) ‘Investments in Associates and Joint Ventures’. On the sale of a 15% holding, the interest in an associate will be derecognized, with a gain or loss on derecognition calculated for inclusion in profit or loss for the year.

· Router should recognize a gain on the sale of the holding in Wireless of $8 million (W1). The gain comprises the following:

(i)
the disposal value or proceeds on the shares sold, plus

(ii)
the fair value of the residual shareholding in Wireless, less

(iii)
the carrying value of the associate at the date of disposal.

· The residual holding of a 10% interest will be accounted for in accordance with IFRS 9. An entity instrument must be measured at fair value at the point of initial recognition, and thereafter at each reporting date until derecognition occurs.

· Normally, equity investments are classified as fair value through profit or loss, with any change in fair value taken to profit or loss each year.

· Alternatively, it is possible to designate the investment to be classified as fair value through other comprehensive income upon initial recognition. If this is the case, all movements in fair value, including the impact of any impairment, will be taken to other comprehensive income each year.

· Therefore, at 1 January 2007, the investment will be recorded at fair value. At 31 May 2007 a further gain of ($26m – $23m), i.e. $3 million will be recorded. The gain of $3 million will be recorded in either profit or loss or other comprehensive income for the year, depending upon how the investment was classified at initial recognition.

W1 Gain on sale of Wireless

	
	$m

	Sale proceeds
	40

	Add: Fair value of the residual investment
	23

	
	63

	Less: Fair value in associate at disposal date
	(55)

	
	8


(d)

· IFRS 10 ‘Consolidated Financial Statements’, identifies three elements of determining whether one entity has control of another as follows:

(i)
power over the investee, and

(ii)
exposure, or rights, to variable returns from its investment with the investee, and

(iii)
ability to use its power over the investee to affect the amount of the investor’s returns.

· IFRS 10 identifies that any power by one entity to control another must be based upon current ability to direct activities which affect variable returns. At first sight, it would therefore appear that Router currently controls Playtime as it owns 60% of the issued equity capital of that entity.

· The matter is complicated by the fact that a competitor entity holds warrants which are currently exercisable and which, if exercised, would result in the competitor gaining control of Playtime. As the warrants are currently exercisable, this means that there could be a change in control of Playtime which Router cannot do anything about.

· IFRS 10 requires that all relevant facts should be considered in determining whether one entity has control of another, and that this should be subject to reassessment if relevant facts and circumstances change.

· It can therefore be argued that, based upon available information, Router is able to control Playtime only because the competitor entity permits it to do so. In this situation, control is really being exercised in a passive way by the competitor who retains the ability to take more active control of Playtime, irrespective of what Router may want or prefer.

· One party only can control Playtime and, therefore, the competitor company should consolidate Playtime. In coming to this decision all the facts and circumstances that affect potential voting rights (except the intention of management and the financial ability to exercise or convert) should be considered. It seems, however, that there is a prima facie case for Router not consolidating Playtime but accounting for it under IAS 28 or IFRS 9.

· Normally, if one entity controls another, it would not normally be possible for a third party to also exercise significant influence in the controlled entity. However, due to the unusual nature of the rights of both Router and the competitor relating to Playtime, this may be the case.
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Answer 6
(a)(i)

· Revenue recognition standards have been criticised because an entity applying those standards might recognise amounts in the financial statements that do not faithfully represent the nature of the transactions.
· This can happen because revenue recognition for the sale of goods depends largely on the transference of the risks and rewards of ownership to a customer.
· Thus an entity might still recognise inventory because not all of the significant risks and rewards have passed to the customer even though the customer has obtained substantial control of the good.
· This is inconsistent with the IASB’s definition of an asset, which depends on control of the good, not the risks and rewards of owning the good.
· The notion of risks and rewards in IAS 18 Revenue can also cause problems when a transaction involves both the sale of goods and related services.
· An entity often considers the transaction as a whole in order to determine when the risks and rewards of ownership are transferred.
· As a result, an entity can recognise all of the revenue on delivery of a good, even though it has remaining contractual obligations relating to services to be rendered, for example a warranty or maintenance agreement.
· Thus the revenue recognised does not represent the pattern of the transfer to the customer of all of the goods and services in the contract.
· Additionally, an entity might recognise all of the profit in the contract before the entity has fulfilled all of its obligations, depending upon how the accruals for the services are measured.
· Another deficiency in IFRSs relates to the lack of guidance for transactions involving the delivery of more than one good or service, often called a multiple-element arrangement. IAS 18 states that in certain circumstances, it is necessary to apply the revenue recognition criteria to the separately identifiable components of a single transaction in order to reflect the substance of the transaction.
· IAS 18 does not state clearly when or how an entity should separate a single transaction into components. Often, IAS 18 is viewed as allowing the recognition of all the revenue for a multiple-element arrangement upon delivery of the first element if all the elements are sold together.
· However, a different interpretation is often placed on IAS 18 and revenue is deferred on all the elements until delivery of the final element.
· Guidance on how to measure the elements in a multi-element arrangement is missing also, with entities applying different measurement approaches to similar transactions.
· There is difficulty in distinguishing between goods and services. Some entities have been accounting for construction service contracts (sale of real estate), recognising revenue throughout the construction process, whilst other entities were accounting for similar contracts as contracts for goods, recognising revenue when the risks and rewards of owning the real estate were transferred to the customer. The lack of a clear distinction between goods and services has reduced the comparability of revenue across different entities.
· There is inconsistency between standards. Under some standards, entities recognise revenue as the activities take place even if the customer does not control and have the risks and rewards of ownership of the item.
· In contrast, the principle of IAS 18 for the sale of goods is that revenue should be recognised only when an entity transfers control and the risks and rewards of ownership of the goods to the customer.
(a)(ii)
· In most cases, the effect of a customer’s credit risk will not be material and the entity will measure the transaction at the invoice amount. However, sometimes the customer defaults on payment for reasons other than the non-performance by the entity.
· There may be situations where an entity enters into similar transactions with customers and the entity expects some of those customers to default. In these cases it may be prudent to take account of the fact that some of the revenue will not be received.
· It also would be consistent with other standards to use a probability-weighted amount of consideration that will be expected to be received.
· If the amount of consideration in these cases cannot be reasonably estimated, it makes sense not to recognise revenue until the cash is collected or estimated with reasonable certainty.
· Normally the time value of money will be immaterial. However in some contracts, the effect could be material if payment is received significantly before or after the goods or services have been transferred.
· In these cases, it may be more relevant for the entity to take into account the time value of money by discounting the consideration using a rate, which reflects the time value of money and the credit risk. Effectively it will be treated as a financing transaction. The use of discount rates is always quite a subjective way of measuring transactions.
(b)(i)

· Under IAS 18, revenue would be recognised of $1 million and a trade receivable of the same amount set up.
· The debt would be assessed periodically for impairment and, in this case, it would be deemed to be impaired by $100,000.
· The 5% risk of not paying does not create a receivables expense as it is the risk of not paying the entire balance and hence is insignificant.
· If the scenario had been that 5% of the revenue was uncollectable in this instance a receivables expense of $50,000 would be required. This impairment would be recognised as an expense rather than a reduction in revenue.
· However, if credit risk were taken into account in assessing revenue to be recognised, the transaction price would be reduced to $950,000. Revenue and a receivable would be recognised of this amount. The impairment of $100,000 would be recognised as an expense and not as a reduction in revenue.
(b)(ii)
· Where payment is deferred, the substance of the arrangement is that there is both a sale and a financing transaction. Under IAS 18, it is already necessary to discount the consideration to present value in order to arrive at fair value. In this instance, the treatment is the same whether IAS 18 is being applied or the proposed accounting treatment.
· Venue would recognise revenue of $2 million/(1·04 × 1·04), i.e. $1·85 million. The interest would then be unwound over the period of the credit given and should be recognised as such. In many situations, entities will sell the same type of goods on a cash or credit basis. In such cases, the cash price equivalent may normally be the more readily determinable indicator of fair value.
· In terms of the cash payment in advance, under IAS 18, cash would be debited with $3 million and a deferred income liability set up in the financial statements of the same amount. No revenue is immediately recorded but when delivery has occurred in one year’s time, revenue is recognised of $3 million.
· If the time value of money was taken into account, Venue would recognise a contract liability of $3 million and cash of $3 million. During the year to the date of the transfer of the product, an interest expense of ($3 million/1·04) – $3 million, i.e. $120,000 would be recognised and the liability would be increased to $3·12 million. When the product is transferred to the customer, Venue would recognise revenue of $3·12 million.
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